Estimating the Average Box Office of the top 1000 Movies
AP Statistics












Name ______________________________
1.
Given the list of the top 1000 grossing movies, randomly select 25 of the movies and determine the sample mean.

	Num
	Gross (millions)

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	



a.
RandInt (1,1000,25) ( L1



Sort (L1)


b.
Complete the chart on the left:

(Express gross in millions rounded to the nearest 100,000, so 

Avatar would be entered as 759.6 million)


c.
Sample Mean:
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= ____________________

2.
To estimate the Mean gross of all 1000 movies, we will use a 95% confidence interval:

Using 
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 with z* = 1.96, ( = 72.86, n = 25, and your 
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 from above, determine the interval 

estimate for your sample.

Interval:
[____________________ , ____________________]

3.
Using your interval calculated in part 2, go up to the board and draw a horizontal segment that starts with the left endpoint of your interval and ending at the right endpoint of your interval.

4.
Did your interval “capture” the population mean?

5.
What percentage of the class intervals “captured” the population mean?
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